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7.8 EXERCISES

1. Explain why each of the following integrals is improper.
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2. Which of the following integrals are improper? Why?
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3. Find the area under the curve y = 1/x° fromx = 1tox =1
and evaluate it for # = 10, 100, and 1000. Then find the total
area under this curve for x = 1.

4. (a) Graph the functions f(x) = 1/x"' and g(x) = 1/x*in
the viewing rectangles [0, 10] by [0, 1] and [0, 100]
by [0, 1].
(b) Find the areas under the graphs of f and g from x = 1
to x = ¢ and evaluate for ¢ = 10, 100, 104, 10°, 10",
and 10%.

(c) Find the total area under each curve for x = 1, if it exists.

5-40 Determine whether each integral is convergent or divergent.

Evaluate those that are convergent.
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41-46 Sketch the region and find 1ts area

1. § = {(X, )’)
2. § = {(x, y)
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